
100 Questions

Que. 1 Directions:Study the following information carefully and answer the questions given below.

There are Eight boxes A, B, C, D, E, F, G and H placed one above the other but not necessarily in the same order.
Two boxes are placed between B and E. H is placed immediately below E. B is place above E. One box is placed
between F and B. D is placed one of the position above E and one of the position below F but not immediately
above or below. One box is placed between G and C. A and F should not be placed above G.

Which box is placed immediately below C?

Correct Option - 3

A1.
E2.
B3.
H4.
F5.

Que. 2 How many boxes are placed between G and D?

Correct Option - 1

Three1.
One2.
Four3.
more than four4.
None5.

Que. 3 What is the position of D?

Correct Option - 5

Third from the top1.
Third from the bottom2.
Fourth from the top3.
Second from the bottom4.
None of the above5.

Que. 4 Four of following five are alike in a certain way based on their positions in the above arrangement and 
so form a group. Which is the one that does not belong to that group?

G - C1.
A - H2.
C - E3.
B - F4.
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Correct Option - 3

E - D5.

Que. 5 If boxes G and A interchanged their positions, then which box will be placed immediately above G?

Correct Option - 2

F1.
D2.
C3.
B4.
E5.

Que. 6 Directions: Read the instructions carefully and answer the question below.
In a certain code language:

‘People love eating cake’ is written as ‘si da ta no’.
‘Right time will come’ is written as ‘hi mu ke ri’.
‘Cake shows the love’ is written as ‘da pe le no’.
‘Right people make food’ is written as ‘ta yi je mu’.
What is the code for the word ‘cake’?

Correct Option - 5

no1.
si2.
da3.
Either 1 or 24.
Either 1 or 35.

Que. 7 What does the code ‘ta’ mean?

Correct Option - 2

Time1.
People2.
Love3.
Food4.
Right5.

Que. 8 What is the code for the word ‘right’?

no1.
yi2.
ke3.
mu4.
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Correct Option - 4

je5.

Que. 9 What does the code ‘si’ mean?

Correct Option - 3

People1.
Love2.
Eating3.
Cake4.
Can’t be determined5.

Que. 10 Directions:In the following question assuming the given statements to be true, find which of the
conclusion among the given conclusions is/are definitely true and then give your answers accordingly

Statements:P≤ R = D>L= N; H< I >A> C≥ P

Conclusions:

I. L < I

II. L≤ I

Correct Option - 5

Only I follows1.
Only II follows2.
Either I or II follows3.
Both follows4.
None follows5.

Que. 11 Directions:In the following question assuming the given statements to be true, find which of the
conclusion among the given conclusions is/ are definitely true and then give your answers accordingly

Statements:G ≥M = P > C; Q < R = B < C

Conclusions:

I. M> R

II. G≥B

Correct Option - 1

Only I follows1.
Only II follows2.
Both follows3.
Either I or II follows4.
None follows5.
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Que. 12 Directions:In the following question assuming the given statements to be true, find which of the
conclusion among the given conclusions is/ are definitely true and then give your answers accordingly

Statements:B > G < F < S; A > M < F < S

Conclusions:

I. B > A

II. S >M

Correct Option - 2

Only I follows1.
Only II follows2.
Both I and II follows3.
Either I or II follows4.
Neither I nor II follows5.

Que. 13 Directions: Study the following information and answer the questions given below:
An uncertain number of persons sit in a linear row. All of them face north. Four persons sit between A

and B. C sits fourth to the right of B. D sits third to the right of A. E sits fifth to the right of F. E sits immediate
left of G who sits third from the one of the extreme ends of the row. B sits sixth to the right of H, who is not
immediate neighbour of A. As many persons sit between C and F as many between F and D. H sits second to the
Ёeft of I, who sits fourth from extreme end. G sits fourth to the right of D.
Who among the following person sits sixth to the right of B?

Correct Option - 1

F1.
E2.
G3.
D4.
I5.

Que. 14 How many persons are in the row?

Correct Option - 4

181.
152.
193.
224.
255.

Que. 15 How many persons sit between A and F?

One1.
Two2.
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Correct Option - 5

Three3.
Four4.
None5.

Que. 16 Directions:Read the following information carefully and answer the questions which follow:
A man starts walking from point K, he walks 12m in the east direction and reached at point L, after that

he takes left turn and walks 5m to reach at point P. From the point P, he takes right turn and walks 10m to reach
at point Q and again takes right turn and walks 13m to reach at point A. Finally he takes rightturn and walks
12m to reach at point B.

What is the direction of P with respect to B?

Correct Option - 2

South-East1.
North-East2.
South-West3.
North-West4.
None of these5.

Que. 17 If a person walks 8m towards the south from point K and he takes a left turn and walks for another
10m, which of the following point would he reach?

Correct Option - 3

A1.
P2.
B3.
Q4.
Cannot be determined5.

Que. 18 What is the shortest distance between L and Q?

Correct Option - 4

3√5m1.
4√5m2.
6√5m3.
5√5m4.
2√5m5.

Que. 19 If a person walks 22m towards West from point Q, which of the following points would he cross and
how far will he be from point K?

L, 5m1.

https://link.testbook.com/bQQ2EkH1bpb
https://link.testbook.com/bQQ2EkH1bpb


Correct Option - 2

P, 5m2.
B, 6m3.
P, 12m4.
L, 10m5.

Que. 20 Direction: In the question below are given two statements followed by two conclusions numbered I
and II. You have to take the given statements to be true even if they seem to be at variance with

commonly known facts. Read all the conclusions and then decide which of the given conclusions logically
follows from the given statements disregarding commonly known facts.
Statements:
Some Cat is Tiger.
No Lion is Cat.
Conclusions:
I.Some Tiger being Lion is a possibility.
II. All Cat is Tiger.

Correct Option - 4

Neither I nor II follow1.
Either I or II follow2.
Only II follow3.
Only I follow4.
Both I and II follow5.

Que. 21 Direction:In the question belowthree statements are given followed by two conclusions numbered I
and II. You have to take the given statements to be true even if they seem to be at variance with

commonly known facts. Read all the conclusions and then decide which of the given conclusions logically
follows from the given statements disregarding commonly known facts.
Statements:
Some Ink is Red.
Only a few Red is Blue.
No Blue is Ink.
Conclusions:
I. All Blue being Red is a possibility.
II. Some Red is not Blue.

Correct Option - 1

Both I and II follows1.
Only I follow2.
Only II follow3.
Either I or II follows4.
Neither I nor II follows5.
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Que. 22 Directions:In the question below are given three statements followed by two conclusions numbered I
and II. You have to take the given statements to be true even if they seem to be at variance with

commonly known facts. Read all the conclusions and then decide which of the given conclusions logically
follows from the given statements disregarding commonly known facts.
Statements:
Some Tables are chair.
Only a few Chair are Desk.
No Desk is Cupboard.
Conclusion:
I. Some Tables are not Cupboard.
II. Some Chair are not Desk.

Correct Option - 2

Only I follow1.
Only II follow2.
Both I and II follow3.
Either I or II follow4.
Neither I nor II follow5.

Que. 23 Direction: In the question below are given three statements followed by two conclusions numbered I,
and II. You have to take the given statements to be true even if they seem to be at variance with

commonly known facts. Read all the conclusions and then decide which of the given conclusions logically
follows from the given statements disregarding commonly known facts.
Statements:
Some landis Road.
Only a few Road is Hill.
All Hill is Mountain.
Conclusions:
I. Some Landis Mountain.
II. Some Landis not Mountain

Correct Option - 4

Only I follows1.
Only II follows2.
Either I or II follows3.
Neither I nor II follows4.
Both I and II follows5.

Que. 24 Direction: Study the following information carefully to answer the given questions.
Eight people – A,B, C, D, E, F, G, and H live in two flats – A and B. There are four floors and each of

the floors has two flats, Flat A and Flat B such that Flat B is to the west of Flat A. Flat A of Floor 1 is just below
the Flat A of Floor 2 similarly Flat B of Floor 2 is just above the Flat B of Floor 1 and so on.
A lives on the top floor of the same flat as C. H lives to the East of G on the same floor but not at the bottommost
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floor. F lives on the same floor as E, who lives in same flat immediately above B. C lives on the 1st floor of Flat
B.
Who lives on the top floor of Flat A?

Correct Option - 4

A1.
B2.
C3.
D4.
E5.

Que. 25 How many floor are there in between the one who lives at the bottommost floor of Flat A and D?

Correct Option - 4

No floor1.
4 floor2.
3 floor3.
2 floor4.
1 floor5.

Que. 26 Who lives on the same floor as the one who lives immediately below A?

Correct Option - 4

A1.
G2.
E3.
H4.
C5.

Que. 27 Who lives on the bottommost floor?

Correct Option - 4

G1.
A2.
D3.
B4.
E5.

Que. 28 How many people live below H in total?

4 people1.
3 people2.
2 people3.
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Correct Option - 1

1 person4.
No one.5.

Que. 29 How many such pairs of letters are there in the word "PORTABLE" each of which has as many letters
between them in the word (in the forward direction) as they have between them in the English

alphabetical order?            

Correct Option - 3

Three1.
Four2.
Two3.
Five4.
One5.

Que. 30 If it is possible to make only one meaningful English word with the second, the fourth, and the sixth
letters of the word ATTEMPT, which of the following will be the first letter of that word? If no such

word can be made give ‘X’ as the answer and if more than one such word can be made give ‘Y’ as the answer.

Correct Option - 3

T1.
E2.
P3.
X4.
Y5.

Que. 31 Direction: Study the following arrangement and answer the question:
7 T @ 5 M D 9 X % V O $ 2 B ! 7 3 > 6 G & K 1

What is the sum of the numbers between ‘@’ and ‘$’ in the given arrangement?

Correct Option - 3

111.
132.
143.
164.
175.

Que. 32 In the given arrangement, how many such symbols are there which are immediately followed by a
number and immediately preceded by a letter?

Four1.
Three2.
One3.
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Correct Option - 2

None4.
Two5.

Que. 33 If all the symbols are dropped from the arrangement then which element will be the 4th element to the
left of the 2nd element from the right end of the arrangement to form?

Correct Option - 4

21.
B2.
33.
74.
O5.

Que. 34 In the given arrangement, how many numbers are there between ‘M’ and ‘!’?

Correct Option - 5

None1.
Four2.
One3.
Three4.
Two5.

Que. 35 In the given arrangement, which element is 8th to the right of the 5th element from the left end?

Correct Option - 1

21.
$2.
O3.
V4.
%5.

Que. 36 What will come in the place of the question mark ‘?’ in the following question?
(92 × 18 ÷ 6 of 5 - 3) = ? - 25

Correct Option - 1

77. 21.
75. 22.
72. 23.
70. 24.
None of these5.
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Que. 37 What should come in the place of the question mark '?' in the following question?

45 % of 620 - 32% of 975 + 82= 43- 33- ?

Correct Option - 4

71.
32.
113.
64.
95.

Que. 38 Simplify: 1720 – 258 + 428 × 15

Correct Option - 4

2451.
5872.
64753.
78824.
79245.

Que. 39 find the value of .

Correct Option - 4

− + +
7

9

17

12

21

6

35

4

1. 108

12

2. 146

9

3. 189

12

4. 209

18

5. 418

18

Que. 40 What will come in the place of the question mark ‘?’ in the following question?

22× 43× 82÷ 16 = 2?

Correct Option - 5

121.
112.
83.
94.
105.

Que. 41 What will come in the place of the question mark ‘?’ in the following question?
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25 × 40 + 20 ÷ ? = 1020

Correct Option - 5

21.
32.
103.
124.
15.

Que. 42 What will come in the place of the question mark ‘?’ in the following question?
36% of 250 - 40% of 130 = 150% of (?)-22

Correct Option - 3

691.
302.
403.
204.
605.

Que. 43 What will come in the place of the question mark ‘?’ in the following question?
68% of 720 + 41% of 390 = ?

Correct Option - 2

549.51.
649.52.
749.53.
249.54.
None of these5.

Que. 44 What should come in place of the question mark (?) in the following question?

40% of 370 + 75% of 280 + ?÷ 8 = (19)2

Correct Option - 1

241.
162.
323.
404.
485.

Que. 45 What will come in place of the question mark?
500of – {4× (50÷ ?)} = 801

5
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Correct Option - 3

201.
302.
103.
404.
505.

Que. 46 What will come in the place of the question mark ‘?’ in the following question?

(33+ 113 )÷ 2 + (20× 5) = ?

Correct Option - 4

2001.
1202.
2503.
1704.
1605.

Que. 47 What should come in the place of the question mark ‘?’ in the following question?
18000 ÷ 6 ÷ 5 ÷ 4 ÷ 3 ÷ 2 = ?

Correct Option - 1

251.
152.
353.
554.
None of these5.

Que. 48 What value can come inplace of the question mark (?) in the question below?
(70% of 40) + (?% of 200) = (55% of 280) – 100

Correct Option - 3

121.
102.
133.
154.
165.

Que. 49 What will come in the place of the question mark ‘?’ in the following question?

132– 102= ?2 + 20
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Correct Option - 2

91.
72.
83.
114.
65.

Que. 50 What will come in the place of the question mark '?' in the following question?
(750–185 + 235– 415)÷ 11 = ?

Correct Option - 3

251.
302.
353.
404.
155.

Que. 51 A box contains three colored marbles, such that the number of blue, yellow and grey marbles is 8, 7
and 5 respectively. Find the probability of picking two marbles, one being blue marble and the other

being grey marble.

Correct Option - 4

13/191.
7/192.
5/123.
4/194.
3/195.

Que. 52 P, Q and R together can complete a work in 10 days. P and Q together can complete the work in 20
days. Q and R together can complete the work in 15 days. Find the time taken by P and R together to

complete the work.

Correct Option - 4

18 days1.
14 days2.
16 days3.
12 days4.
22 days5.

Que. 53 The average of the 6 consecutive even numbers is 129. Find the fifth term of 6 consecutive odd
numbers where the 1st term of 6 consecutive even numbers is 7 less than the first term of 6 consecutive

odd numbers.
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Correct Option - 4

1341.
1442.
1243.
1394.
1295.

Que. 54 A, B, and C started a business with investments of Rs.2400, Rs.2000, and Rs.3000. After 6 months, B
increased his investment by 25% while C decreased his investment by 20%. If the total profit after 1

year is Rs.9800, then find the profit share of C.

Correct Option - 3

Rs. 35501.
Rs. 37502.
Rs. 36003.
Rs. 37004.
Rs. 38005.

Que. 55 The time taken by two trains A and B to cross each other in opposite and same directions are in a ratio
of 1: 4. Both trains can cross a pole in 8 seconds and the speed of train A is 90 km/hr. Find the length

of train B.(provided that the speed of train A is more than the Speed of train B).

Correct Option - 4

125 m1.
135 m2.
130 m3.
120 m4.
150 m5.

Que. 56 If the breadth of the rectangle is 80% of the length of the rectangle.Perimeter of the rectangle is 54 cm.
Find the area of the rectangle.

Correct Option - 2

185cm²1.
180cm²2.
175cm²3.
150cm²4.
170cm²5.

Que. 57 Three pips A, B, and C together can fill a tank in 8 hrs. The efficiency of pipe C is 20% less than pipe
A's and pipe B's efficiency is 50% more than pipe C. Find the time pipe B requires to fill the tank.

18 hours1.
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Correct Option - 2

20 hours2.
23 hours3.
22 hours4.
21 hours5.

Que. 58 Time taken by the bus to cover the 420 km distance is 7 hours more than the car. If the speed of the car
is 10 kmph more than the bus then find the speed of the bus.

Correct Option - 3

12 kmph1.
15 kmph2.
20 kmph3.
25 kmph4.
10kmph5.

Que. 59 An amount x receives Rs. 1344 as the simple interest for 3 years at 14% per annum and the same
amounts to Rs. 2240 in the 5 years. Find the value of x.

Correct Option - 3

Rs.36001.
Rs. 37002.
Rs. 32003.
Rs. 39004.
Rs.35005.

Que. 60 Cost price to marked price of the article are in the ratio 2: 3.If the discount percentage of the article is
20% and the article profit earned by selling the article is Rs. 120.Find the cost price of the article.

Correct Option - 3

Rs.5001.
Rs.4502.
Rs.6003.
Rs.5504.
Rs.4005.

Que. 61 A vessel consists of 200 litres which is 60% are milk and remaining are water now 50% of the mixture
is removed and x litres of milk is added then the ratio of milk to water is 5: 2. Find the value of x.

50 litres1.
55 litres2.
35 litres3.
40 litres4.
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Correct Option - 4

45 litres5.

Que. 62 A boat can row 180 km upstream , with the speed of still water in 30 kmph and the difference between
time taken upstream and downstream is 2.5 hours. Find the speed of the stream.

Correct Option - 3

5 kmph1.
7 kmph2.
6 kmph3.
4 kmph4.
8 kmph5.

Que. 63 Number of literate to Illiterate are in the ratio 7: 6 and 80% of the males are literate and 60% of the
females are Illiterate. if the number of Illiterate males are240. Find the difference between the number

of literate females and Illiterate males.

Correct Option - 4

1601.
1302.
1403.
1004.
1205.

Que. 64 A, B and C entered into the partnership with the amount of Rs. 5500, Rs. 6500 and Rs. 6750
respectively. After 8 months C left the business and at the end of the year the profit of A is Rs. 2200.

Find the total profit earned by all A, B, and C.

Correct Option - 2

Rs.65401.
Rs.66002.
Rs.61203.
Rs. 44204.
Rs. 65805.

Que. 65 The ratio of present age of A to B is 5: 4. If the age of B after 6 years is equal to the present age of A.
Average age of A, B and C is 30 then find the difference between the present age of A and the present

age of C.

141.
102.
63.
84.
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Correct Option - 3

125.

Que. 66 Directions: The following bar graph shows the total number of professors teaching (History
+Physics) and Number of Professors teaching Physics in four different colleges A, B, C and D.



Number of professors teaching History in college C and D is approximately what percentage of the total number
of teachers teaching physics in all the colleges.

Correct Option - 3

38%1.
42%2.
36%3.
56%4.
51%5.

Que. 67 If the number of professors teaching history in college A is increased by 25% and the number of
professors teaching physics in college A is increased by 50% and the average number of professors

teaching History, Physics and Maths in college A is 110. Find the number of professors teaching Math.

Correct Option - 3

1111.
1512.
1313.
1814.
1215.

Que. 68 Average number of professors teaching History in college A,B,C,D and E is 62 and the average number
of professors teaching Physics in College A, B, C, D and E is 70. Find the Total number of professors
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teaching Physics and History in college E.

Correct Option - 3

1611.
1512.
1423.
1324.
1495.

Que. 69 Find the difference between 1/6 of the number of professors teaching History in college C and 1/8 th of
the number of professors teaching physics in college D.

Correct Option - 3

71.
52.
33.
44.
65.

Que. 70 If the number of professors teaching History in College A is 4 more than the number of professors
teaching English in college A and the number of professors teaching English in college B is 75% of the

number of professors teaching history in college B. Find the number of persons teaching English in College A
and College B.

Correct Option - 2

1541.
1242.
1143.
1344.
1645.

Que. 71 Read the passage and answer the following questions.
India is a land of great tourismpotential. From Kashmir to Kanyakumari, from Arunachal Pradesh to

Gujarat, every region has its own uniqueness and flavour.Be it cold/hot deserts (Ladakh/Rajasthan), rivers
(Ganges and Brahmaputra), forests (Niligiri & North East) orislands (Andaman and Nicobar), each landform is
bound to mesmerize tourists. Moreover, the wide variety in the landscape offers a range of choices to tourists
from within India and abroad.

In October 2017, the Union Ministry of Tourism incollaborationwith other central ministries, state
governments and stakeholders successfully organized “Paryatan Parv” across the country. The 21-day program
was organized with the objective of drawing focus on the benefits of tourism, showcasing the cultural diversity of
the country and reinforcing the principle of “Tourism for All”. India’s tourism sector witnessed a growth of 4.5
per cent in terms of foreign tourist arrivals (FTAs) with 8.2 million arrivals in 2015, and a growth of 4.1 per cent
in foreign exchange earnings (FEEs) of USD 21.1 billion.
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However, tourism-associated economic and social infrastructure – hotels, connectivity, human resources,
hygiene, health facilities, etc are largely under-developed in India. The poor quality of infrastructure is reflected
in India’s 112th rank in the ICT readiness component and 104th rank in the health and hygiene components of the
WEF’s Travel and Tourism Competitiveness Index 2017. The safety and security of tourists, especially of foreign
tourists, is a major roadblock to tourism development. Attacks on foreign nationals, especially on women, raise
questions about India’s ability to welcome tourists from far away countries. A majority of the tourist spots in the
country are not accessible to poor, women and elderly. This is because of the high costs of travelling, poor
connectivity and a series of permissions required for various reasons.

Tourism not only creates jobs in the tertiary sector but alsoencouragesgrowth in the primary and secondary
sectors of industry. Hence, it is high time, the government encourages the participation of the private sector in a
big way for the all-round development of the tourism sector that has the potential to act as the key driver of
inclusive growth.

What does the word 'encourages' mean?

Correct Option - 3

causes (someone) to lose confidence or enthusiasm.1.
prevents or tries to prevent (something) by showing disapproval or creating difficulties2.
gives support, confidence, or hope to (someone).3.
care taken to avoid danger or mistakes.4.
advice, especially that given formally.5.

Que. 72 What does the word 'potential' mean in the context?

Correct Option - 1

the possibility of something happening in the future.1.
an inherent mental or physical power.2.
not having been developed.3.
having great power, influence, or effect.4.
lacking the power to perform physically demanding tasks.5.

Que. 73 What was the focus of the 'Paryatan Parv?'
1.reinforcing the principle of “Tourism for All”

2. promoting benefits of tourism
3. showcasing cultural diversity.

Correct Option - 4

only 11.
only 22.
only 33.
all of these4.
none of these5.

Que. 74 Which program was organized to draw focus towards the benefits of tourism?
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Correct Option - 4

Tourism for All1.
Swach Bharat2.
Kehlo India3.
Paryatan Parv4.
None of these5.

Que. 75 How many foreign tourist arrivals (FTA) were recorded in 2015?

Correct Option - 2

1.1 billion1.
8.2 million2.
21.1 million3.
8.2. billion4.
21.1 billion5.

Que. 76 Which of the following statements is trueas per the passage?

1. The wide variety in the landscape of India offers a range of choices to tourists from within India and
abroad.

2. India's tourism sector witnessed a growth of 4.5 percent in terms of foreign tourist arrivals (FTAs) with
8.2 million arrivals in 2015.

3. The poor quality of tourism-related infrastructure in India is reflected in its 113th rank in the ICT readiness
component of the WEF's Travel and Tourism Competitiveness Index 2017..

Correct Option - 3

all except 11.
all except 22.
all except 33.
all of these4.
none of these5.

Que. 77 What are the challenges faced by the Indian tourism industry?
1.connectivity

2. lack of proper hygiene
3. safety and security of tourists

only 11.
only 22.
only 33.
all of these4.
none of these5.
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Correct Option - 4

Que. 78 What does the word 'collaboration' mean?

Correct Option - 4

the refusal to accept or comply with something.1.
unwilling to help others or do what they ask.2.
the ability not to be affected by something, especially adversely.3.
the action of working with someone to produce something.4.
deliberately unhelpful.5.

Que. 79 Which of the following statements is true as per the passage?

1. India's tourism sector witnessed a growth of 4.5 percent in terms of foreign tourist arrivals (FTAs) with 8.2
million arrivals in 2015.

2. India ranked 104th in the health and hygiene components of the WEF's Travel and Tourism
Competitiveness Index 2017.

3. The government should encourage the participation of the private sector for the all-round development of
the tourism sector.

Correct Option - 4

only 11.
only 22.
only 33.
all of these4.
none of these5.

Que. 80 What is India's rank in terms of health and hygiene in WEF'sTravel and Tourism Competitiveness
Index 2017?

Correct Option - 1

104th1.
114th2.
122th3.
100th4.
14th5.

Que. 81 The question below contains five scattered segments of a sentence. Indicate the sequence which
correctly assembles the segments and completes the sentence.

A.devastated an already
B. the lockdown
C. a lot of suffering
D.fragile economy
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E.and caused

Correct Option - 2

CEDAB1.
BADEC2.
BECAD3.
CDEBA4.
CDABE5.

Que. 82 The question below contains five scattered segments of a sentence. Indicate the sequence which
correctly assembles the segments and completes the sentence.

A.on a large scale is
B.calculating the key parameters
C. mapping the sky
D. of cosmic expansion
E.crucial for

Correct Option - 5

CEDBA1.
BACED2.
DBCAE3.
DABCE4.
CAEBD5.

Que. 83 The question below contains five scattered segments of a sentence. Indicate the sequence which
correctly assembles the segments and completes the sentence.

A.though the pressures of
B. the havoc caused by
C.the lockdown have
D.begun to ease up
E.the coronavirus continues unabated

Correct Option - 1

BEACD1.
BECAD2.
ABECD3.
ABCED4.
DEABC5.

Que. 84 Directions: Given below are five scattered segments of a sentence. Indicate the correct sequence
which correctly assembles the segments and completes the sentence.
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A. limited government health spending
B. to bankruptcy, decreased treatment satisfaction,
C. the financial burden of lifelong treatment
D. and poor quality of life, exacerbated by
E. for non-communicable diseases often leads

Correct Option - 4

ADCEB1.
BACDE2.
BDACE3.
CEBDA4.
EBDAC5.

Que. 85 Directions: Fill in the blanks in the passage below, with the word from among the options given
for each blank labeled (A) to (E). Choose the word that fits in each blank most appropriately in

the context of the passage.
Banking institutions play a crucial role in the ____A____ system by providing a range of financial services to
individuals and businesses. One of the key functions of banks is to accept ____B_____from customers and offer
them interest on their deposits. Banks also lend money to borrowers, charging them _____C___on the loans
provided. In addition, banks facilitate electronic ___D_____and enable customers to make payments and
transfers easily. Lastly, banks play a significant role in managing risk by offering ____E______ services to
protect against potential losses.

Select The most appropriate option to fill in blank A.

Correct Option - 1

economic1.
educational2.
environmental3.
entertainment4.
exploration5.

Que. 86 Select The most appropriate option to fill in blank B.

Correct Option - 1

deposits1.
withdrawals2.
invoices3.
statements4.
receipts5.

Que. 87 Select The most appropriate option to fill in blank C.

profit1.
interest2.
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Correct Option - 2

penalties3.
taxes4.
dividends5.

Que. 88 Select The most appropriate option to fill in blank D.

Correct Option - 1

transactions1.
negotiations2.
resolutions3.
predictions4.
interventions5.

Que. 89 Select The most appropriate option to fill in blank E.

Correct Option - 1

insurance1.
advertising2.
counseling3.
auditing4.
marketing5.

Que. 90 Direction: The given sentence is divided into four parts:A, B, C, and D. Choose the part that
contains an error as your answer. If the sentence is error-free, mark E i.e. No error as your

answer.
The former cricketer (A)/ visit recently an orphanage (B)/ fueling speculation that (C)/ he is planning to adopt a
child in his area. (D)/ No error (E)

Correct Option - 2

A1.
B2.
D3.
C4.
E5.

Que. 91 Direction: The given sentence is divided into four parts: A, B, C, and D. Choose the part that
contains an error as your answer. If the sentence is error-free, mark E i.e. No error as your

answer.
The children neither wanted (A)/ to go back home early (B)/ from vacation or to miss (C)/ their adventures
planned for the trip. (D)/ No Error (E)

A1.
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Correct Option - 3

B2.
C3.
D4.
E5.

Que. 92 Direction: The given sentence is divided into four parts: A, B, C, and D. Choose the part that
contains an error as your answer. If the sentence is error-free, mark E i.e. No error as your

answer.
The team of researchers from Australia(A)/ are working tirelessly (B)/ to uncover the mysteries (C)/ of the
ancient civilization. (D)/ No error (E)

Correct Option - 2

A1.
B2.
C3.
D4.
E5.

Que. 93 Direction: The given sentence is divided into four parts: A, B, C, and D. Choose the part that
contains an error as your answer. If the sentence is error-free, mark E i.e. No error as your

answer.
The company's annual profits have rose(A)/ significantly since(B)/ the new CEO took over(C)/ last year in
April.(D)/ No error. (E)

Correct Option - 1

A1.
B2.
C3.
D4.
E5.

Que. 94 Directions: Given below is a word, followed by three sentences that consist of that word. Identify
the sentence(s) that express(es) the meaning of the word.

DISCOUNT
A. They find it difficult todiscountthe smashing victory he finally attained in Tunisia.
B.You will have to discount for the disappearance of the money.
C. They usually give you a discount if you buy multiple copies.

Only A1.
Both A and B2.
Only B3.
Both A and C4.
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Correct Option - 4

Only C5.

Que. 95 Directions: Given below is a word, followed by three sentences that consist of that word. Identify
the sentence(s) that express(es) the meaning of the word.

OBJECT
A. The thought of working nights fills me with objecthorror.
B.The object of the game is to improve children's math skills.
C. Working people everywhere object to paying taxes.

Correct Option - 4

Only A1.
Both A and B2.
​Only B3.
Both B and C4.
​Only C5.

Que. 96 Directions: Given below is a word, followed by three sentences that consist of that word. Identify
the sentence(s) that express(es) the meaning of the word.

DESERT
A. They rejoined the group as Sarah passed out desert and coffee.
B.The geological prospecting team ranged over the desert in search of valuable deposits of oil.
C. His life in the regiment had been such a hell that he decided to desert.

Correct Option - 4

Only A1.
Both A and B2.
Only B3.
Both B and C4.
Only C5.

Que. 97 Direction: There are two blanks in the sentence given below. From the pair of words given in the
options, choose the one that fits into the blanks most appropriately.

______ of education holds the key for development, for with it will come better governance, lesser inequality and
a better ______ of life.

Correct Option - 1

Proliferation, quality1.
Widespread, status2.
Recognition, rank3.
Prosperity, alteration4.
Burgeon, knowledge5.
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Que. 98 Direction: Choose the correct alternative which fits both the blanks and makes the sentence
contextually and meaningfully correct.

In the last two and half years, the world has _______ two major shocks- the COVID-19 pandemic and the
conflict in Ukraine. These shocks have produced _______ impact on the global economy.

Correct Option - 2

Noted; Intellectual1.
Witnessed; Profound2.
Behold; Scholarly3.
Attended; Sagacious4.
Validated; Erudite5.

Que. 99 Direction: Choose the correct alternative which fits both the blanks and makes the sentence
contextually and meaningfully correct.

The Reserve Bank of India, chiefly known as RBI, is India’s central bank and regulatory body responsible for
__________ of the Indian banking system. It is under the ___________ of Ministry of Finance, Government of
India.

Correct Option - 4

Distribution; Sponsorship1.
Regulation; Sponsorship2.
Distribution; Ownership3.
Regulation; Ownership4.
None of these.5.

Que. 100 Direction: Choose the correct alternative which fits both the blanks and makes the sentence
contextually and meaningfully correct.

WHO is the United Nations agency that _______ nations, partners and people to promote health and keep the
world safe. It also _____ the vulnerable-so everyone, everywhere can attain the highest level of health.

Correct Option - 3

Joins; Provides1.
Dissociates; Caters2.
Connects; Serves3.
Connects; Provides4.
Connects; Caters5.
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